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,
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2 welle fonchaon FEL
'
C IR ) vehifie fr f ( x - g) fly ) dy = ×¥ tx ?
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Exercise 7-
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S oil gn= HE  n ,  ng
eh h = HC - I ,  IT
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a) Calcalez explicit em  eat gn*h .

b) Montney que gn* h = In out fix )  = I sincnx ) sense .
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c) Monkey que Hfnll
,

→  to

d) Monkey que  F :  L' →  Coo  n  ' est pas  surjective .
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Exercise 8
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.
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.
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?
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,
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On  reconnoitre f  * floes  = ÷ ,

-
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.
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-
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a) gn * e Cx ) = francs ) ha - 9) dy = ! ! He , is
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• I fr fly ) g Cx - g ) dy / e #IfCuss I
'

dy )
"

( In Igcse - g) I 2dg )
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Hf *  as He Ellfllzllgllz .
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,
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9 .  g

fan * oh est  aeons CE . ✓
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,
t H Cfn - f) *  94

,
E HEH

,
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,  →  O .
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,
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-
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He⇐
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,
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1) La for  male  est  vnaie pour f E L' no
.

Pour fed o - mend (E) c L
' nd -9 f .

Ex esh  convince L2 → L2 : It Caf Hz  = llfllzj
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-
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2) b ee f E L
'
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Pf =
¥
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Mais h (g) = If He , , , ,
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,
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'
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-
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3) 11 Pf 112  = 2T It Flghlllz  = ( ut ) Hgh 112 E At 119112 ⇐ Hfllz

pop ( f ) = PC 2T Flash ) ) =  4T
'  

I ( g h2 ) =  act
 Hgh ) =P I fl .

Si k = Ice ) E L } Ck I Pf > =  2  it s Fel
,
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PIP .



Corri ge
' 12

9TH ) = 2A  e-
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